PerformanceRequirement satisfied by an invalid element

Abbreviation
performanceRequirement[1]
Description
This validation rule checks if the Performance Requirement is satisfied by a Value Property.
Severity
warning
Constrained Element
Performance Requirement
Solvers
®* Remove invalid Satisfy relationship(s) - deletes not valid Satisfy relationship from the model.

Example

Performance Requirement is satisfied by not valid element

wblocks sperformanceReguirements
Pad Pad Thickness
values agatisfys d="11"
brakeMU: Real= 0.6 — — — Zlirext="The Pad Center
width : diameterjmetre}= 0.03&unit = metre} Thickness shall be hetween
centerLength : length[metre]= 0.08{unit = metre} - "
thickness :gfength[ﬂe{rek n].m-jnii = metre} TETEIL L L

Performance Requirement is satisfied by valid element

wblocks zperformanceRequirements

Pad Pad Thickness

values ld="11"
hr_akel-l'l ll_: Real= 0.6 i _ Text = "The Pad Center
wdﬂ r:L:m ;tn hetelr{rn ;’IT];[ ﬂ-?%gfﬁ MEWE! | | asatisfy» = Thickness shall be between
Cen ngth : length[metre]= 0.08{unit = metre} - = i "

L ! - and 11.5 millimeters.

thicknese : length[metre]= 0.01{unit = metre} | o — i

The Pad Thickness Performance Requirement is satisfied by thickness Value Property.
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